B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

moR wEAE 2010. 8.29 £i5 . BHKEABFLE a—+B
HEER 10:00 #&No. 345
m 3B —JHE 23 — 23
KIRTE A 75 b2 19 90 KREEAZ
13 — 30
RKIRIEXZE
No | #EF#%& (player) S PTS 3 POINT 2 POINT FT PF
4| =H BEH * 11 0 5 1 2
5 | BE B * 5 0 2 1 4
6 | B = * 14 1 5 1 4
8 | Nl HESN * 2 0 1 0 5
9 | EX &R 10 1 2 3 0
10 ms EFE 4 0 2 0 0
15 | FEN =B * 29 0 12 5 3
P 75 2 29 11 18
S(242Y) :PTS (#4158 £5) : 3POINT (S h%) : 2POINT (R Th%0)
FT(Z—xB8—) PF7791)
BEFEFENRT Y hiR—LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

#g2H #EA 2010. 8.29 £15 : BBKRKEARFE a—+B
HEER 10:00 #&No. 345
m 3EBY—TH 23 — 23
KIRAFILKE 90 }g — ;i 75 KRIZEXZE
30 — 13
KR AFILKE
No | EF#& (player) S PTS 3 POINT | 2 POINT FT PF
0 | JAF I * 34 6 6 4 3
Fit B 0 0 0 2
13 | @ {E—H8 0 0 0 1
15 | A #%E * 13 3 1 2 2
17 | & =t * 0 2 0 5
26 | K& ™ 0 0 0 1
28 | B8HF K 0 0 0 1
32 | ftE BA— * 24 0 8 8 4
35 | /MEIL & 0 0 0 0 1
4 | lLEH & * 15 3 3 0 3
69 | KR %IE 0 0 0 0 1
& = 90 12 20 14 24
S(R94v) :PTS (#2158 51) :3POINT (R Th%k) : 2POINT (B Th%r)
FT(Z 1) —x8—) :PF(791)
BEFEFENRT Y hiR—LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w28 xEA 2010. 8.29 =15 : HHBKFEAEE a—kB
Hemp 11:30 s&No. 346
m 3B —JE 21 — 13
KREFEHAE 67 o g0 71 HLEEXS
21 — 20
KIRFEFERKE
No | #EF#%& (player) S PTS 3 POINT 2 POINT FT PF
4| EX EF * 6 0 3 0 3
FEE M * 32 3 11 1 4
AR OBE 5 1 1 0 3
7 — #Hht * 9 1 3 0 1
10 | Flu =355 * 11 ) 1 3 3
11| A X# * 0 0 0 0
12 | &R K 0 2 0 0
& = 67 7 21 4 14
S (R84Y) :PTS (4248 &) : 3POINT (RKZH%L) : 2POINT (RE TN )
FT(Z1)—28—=):PF(79L)
BEFEEE/NR Ty bR—)LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w28 xEA 2010. 8.29 =15 : HHBKFEAEE a—kB
SHARERT 11:30 =ANo. 346
m 3B —JE 13 — 21
M T ope 1Y 67 AREFERAS
20 — 21
HELLZEBE K=
No | EF4%& (player) S PTS 3 POINT 2 POINT FT PF
4 | HFE BEX * 29 0 14 1 1
B &z ) 0 1 0 1
9 | BkEH ZEA * 18 2 4 4 1
17 | #EKR Kih 0 0 2 )
18 | B EE * 4 0 9 0 2
21 | & HIR * 12 0 5 2 4
24 | BD B * 4 0 2 0 3
PO 7 2 28 9 14
S(A94V) :PTS (#a15 £ :3POINT (R Th%k) : 2POINT (R Th%)
FT(2 1) —2xB8—) PF(779))
BEFEEE/NR Ty bR—)LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w28 xEA 2010. 8.29 =15 : BB KFEAEE a—kB
HoRER 13:00 H&No. 347
m 3B —JE 16 — 10
HEA 64 20 10 54 pme
16 — 18
HEKRZE
No | EF%& (player) S PTS 3 POINT 2 POINT FT PF
1 BN a4 * 7 1 2 4
14 | % 58 0 1 0
21 | K & * 33 1 10 10 1
22 | EH @WK * 11 2 1 3 3
29 | A ER® . 0 0 2 0
41 | 3w #A * 0 2 0 3
55 | BEB BE * 1 1 0 3
PO 64 5 17 15 14
S(R54v) :PTS (#215 /=) : 3POINT (B Th%k) : 2POINT (B Th%k)
FT(2 1) —2xB8—) PF(779))
BEFEEE/NR Ty bR—)LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w28 xEA 2010. 8.29 =15 : BB KFEAEE a—kB
Hemp 13:00 s&No. 347
m 3B —JHE 10 — 16
Bk 54 19 20 64 mEA
18 — 16
HEKE
No | #EF#%& (player) S PTS 3 POINT 2 POINT FT PF
2 | HE #E * 13 0 6 1 2
B I * 10 1 9 3 4
10 | EIR KX#&H * 0 2 0 4
12 | B 0 0 0 2
14 | g Kov * 15 3 3 0 4
24 | R*H EE 2 0 1 0 0
47 | lLE B&% * 10 0 2 6 3
- 54 4 16 10 19
S(24+y) :PTS (#4375 /) : 3POINT (BiTh%k) : 2POINT (R Thik)
FT(Z1)—28—=):PF(79L)
BEFEEE/NR Ty bR—)LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w20 #EA 2010. 8.29 £15 : BEKRKEAREE a—+B
HEER 14:30 #&No. 348
m 3EBU—TE 17 — 18
A 84 o5 2 1 mEmsmAs
22 — 18
REBKZE
No | EF4% (player) S PTS 3 POINT 2 POINT FT PF
10 | B % * 20 0 9 2 3
11 | deNl # 3 0 1 1 1
13 | M8 H& * 14 0 6 2 3
15| &S B 0 4 0 2
16 | B2 0 0 2 0
18 | /Ml HfE— 2 0 1 0 1
21 | R¥ B * 10 1 3 1 5
22 | RA¥t =2 * 5 0 2 1 1
23 | FRIU #E * 14 ) 4 0 1
25 | FH £ 6 0 3 0 0
& & 84 3 33 9 17
S(R94v) :PTS (#3158 ) :3POINT (B Zh#k) : 2POINT (B Zh%)
FT(Z—xB8—) PF7791)
BEFEFENRT Y hiR—LER




B O X %47 ER22% 98 18
SCORE 2010FERETEFEN AybR =)L) —5 B

w28 *EA 2010. 8.29 =15 : HHBKFEAEE a—kB
AR 14:30 saNo. 348
m 3B —JE 18 — 17
12 — 23 N ‘
BFFIERAE 12 g4 — 9y 84 WERKZ
18 — 22
BFMERKE
No | EF4%& (player) S PTS 3 POINT 2 POINT FT PF
4 | ER BE= 0 0 0 0 4
I=E [kt * 0 3 1 5
7| MR HEF¥ * 13 0 5 3 1
10 | BIER G0 * 33 2 11 5 2
12 | ¥f& BE * 17 1 6 2 2
13 | &8 X&E * 0 0 0 0
17 | Kl =—8R 0 0 0 2
19 | &M SR 0 1 0 2
& = 72 3 26 11 18
S(A94V) :PTS (#a15 £ :3POINT (R Th%k) : 2POINT (R Th%)
FT(2 1) —2xB8—) PF(779))
BEFEEE/NR Ty bR—)LER




